Technician B Machinist

Cutting speed in turning operation depends on which of the parameters.

a) Length of work-piece
b) Diameter of work-piece
c) Material of work-piece

d) Material of Work-piece and Tool Material
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a) -0 B darS

b) TH-UNg BT T

¢) TP-UNg &1 grfi@Ecigq)

d) -0 $t IREERTe) iR ¢d

The process of producing a flat seat for a bolt head at opening of drilled hole

1S

a) Trepanning
b) Counter boring
¢) Reaming

d) Counter sinking
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a) ¢U
b) PRI TR
c) AT
d) PR Rifdh

The difference between maximum and minimum limit of a size is known as

a) Fit
b) Tolerance
¢) Interference

d) Standard deviation
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a)faTc.'
b) eIy

d) Trss sfaueH

In a hole basis system, the fundamental deviation for the hole is

a) 0 mm
b) 0.8 microns

c) 0.01 mm

d) 0.01 microns
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a) 0 o

b) 0.8 HIZHIH
c) 0.01 fot

d) 0.01 HIZHIH

HSS Stands for

a) High Strength Steel
b) High Stiffness steel
c) Heavy Strength steel
d) High speed steel
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2) B3 WY €I
b) 8% WIHAY Wd
¢) Bdl LY I
d) B8 Wis €ia

Pressure is

a) Force per unit area
b) Force per unit length
c) Mass per unit volume

d) Volume per unit mass
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a) Wﬁm@ﬁ

b) I Ufd SHTS TS

¢) TSIHM Ufd 3BTs 3Maa
d) 3Id- Ufd 3hls GodH A

Carbon content in Mild Steel is

a) Lessthan 0.3 %
b) 0.3% to 0.5%
c) 0.5% to 1%
d 1% to 1.5%
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a) 0.3 % HH
b) 0.3 % 0.5%
¢) 0.5%Y 1%
d) 1% ¥ 1.5%

What is the minimum percent of Carbon in Iron-Carbon system to define a

cast iron?

a) 0.5
b) 0.8
c) 1.2
d) 2.0
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a) 0.5
b) 0.8
c) 1.2
d) 2.0

Which of the following grades of SS is non-magnetic?

a) SS 403

b) SS316L

c) SS416

d) None of the above
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a) SS 403
b) SS 316L
c) SS416

d) SRIFd A Y B g

Which of the following is an example of indirect angle measuring tool?

a) Bevel protractor
b) Bevel gauge
¢c) Combination set

d) Marking rule



fArafalRad § @ o el HIUT A1YA & IUDHRUN BT Udh 360 87

a) 99d WlcdeR

b) §ad ISl

¢) PIETRH Ie

d) 3fch gt (ATfch T &)

If the recommended cutting speed of Mild Steel is 22 m/min, what is the

rotational speed (rpm) for a drill bit of diameter 20 mm?

a) 350 rpm
b) 1050 rpm
c) 700 rpm
d) 2100 rpm
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a) 350 ARUTH
b) 1050 RYTH
¢) 700 3RUTH
d) 2100 3RUTH

X Ray radiography test is used to determine

a) Yield strength
b) Ultimate tensile strength

¢) Internal Cracks

d) Hardness
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b) 3feCIHC TS T
C) TARP GRR

d) PRI (FTSH)

SI unit of length1is
a) Meter

b) Millimeter

¢) Centimeter

d) Kilometer
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a) HIcR

b) AR
¢) HeHex
d) fopandiex

Least count of Engineer’s steel rule1is
a) 1 mm

b) 0.1 mm

c) 0.2 mm

d) 0.5 mm
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a) 1 fOcHeR
b) 0.1 forcfidtey
¢) 0.2 FHEHReR
d) 0.5 fAciiHeR

Density of mild steel is gm/cm’

a) 7800
b) 7.8
c) 2700
d) 2.7
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a) 7800
b) 7.8
¢) 2700
d) 2.7

Ability of material to withstand shock and impact is called

a) Hardness
b) Toughness
c) Ductility
d) Brittleness
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a) DORI (FST)
b) ST (@w=N)
¢) T (Sfaefd
d) HIRTT (fsieer4)

The chisel used for cutting rough surface quickly for turning on wood

turning lathe is

a) Firmer chisel

b) Gouge chisel
c) Skew chisel

d) Mortise chisel
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a) HHR WAt

b) TS &=t

C) W{L%‘*ﬂ

d) HifdS &+

Wringing is term used in

a) Metal testing
b) Calibration of instruments
c) Defect in Vernier Calliper

d) Slip gauge
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a) YTq URT&T

b) SUBN BT 3R
¢) IR BieTR H gy
d) fu s

SI Unit of energy is

a) Watt
b) Joule
c) Newton

d) Ampere
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a) dIc
b) SIct

c) i
d) TR

Kelvin is unit of

a) Flow rate
b) Temperature
c) Pressure

d) Volume
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a) Udlg aX
b) ATGHM
c) adid

d) 3a-

N-m 1s unit of

a) Pressure
b) Potential energy
c) Torque

d) Surface tension
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2) GEId
b) fRufas Sut
¢) TAYD (CTh)
d) g8 T1d (TR <)

Which of the following materials is having maximum brittleness?

a) Copper
b) Cast iron
c) SS 304
d) Mild steel
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a) PR

b) DI AU
c) YU 304

d) HAEwE Tid

A jig is used for

a) Holding the job and guiding the tool
b) Holding the job only
c) setting work piece on machine

d) Easy movement of job



fSTT &1 TN & fore fpar Srar 31

a) Sid Bl UH ST 3R T BT ANIGR BT

b) Hdd Slid Bl GHS]

¢) THUIT I AT IR JE HIAT
d) e fhu M 3aTeel & forw

Which of the following operations can be performed on circular saw

a) Grooving
b) Rabbeting
¢) Tenoning

d) All of above
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a) JfdT
b) &
C) ST
d) SR & gt

Which of the following principles is used in Jig and Fixtures?

a) 2-3-1 principle
b) 3-2-1 principle
¢) 1-2-3 principle
d) None of the above
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a) 2-3-1 g
b) 3-2-1 Rrgra
c) 1-2-3 g
d) SWRITd F Y BIs el

Lead is lighter than

a) Stainless Steel
b) Mercury
c) Aluminium

d) High speed steel
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2) B9 Tld

b) FRAGH

¢) THITH
d) g5 Wis &d

Emery paper No. 320 is smoother than Emery paper no.

a) 100
b) 400
c) 1000
d) None of the above
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a) 100
b) 400
c) 1000

d) $TH Y BIg ol

Cast Iron 1s used in machine beds because of which property?

a) Vibration Damping
b) High malleability
c) High ductility

d) High machinability
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a) HUq HdHG

b) I aTaadaar @feufaferd)
¢) I ddl (sfaeferel)

d) 3= AfRAfaferd

Form tools are used in

a) Face milling
b) Taper turning
c) Welding
d) Cutting
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a) By HifeiT
b) eUR ef
c) afeET
d) e

The relative axial distance moved by one rotation of bolt in nut is called

a) Pitch
b) Crest
c) Trough
d) Lead
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a) 04
b) heC
¢) Td
d) ds

A work piece on lathe machine completes 1000 revolutions in 15 seconds.

What 1s the RPM?

a) 2500
b) 1000
c) 4000
d) 40000
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a) 2500
b) 1000
¢) 4000
d) 40000

Unit of feed rate in milling machine is

a) mm
b) mm/min
c) mm/ rev

d) rev/mm
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a) mm
b) mm/min
c) mm/ rev

d) rev/mm

Density of Aluminum is

gl

a) 1.5
b) 2.7
c) 4.6
d) 7.8

(gm/cm’)



T &1 oad (gm/cm’) ® ?

a) 1.5
b) 2.7
c) 4.6
d) 7.8

Hot hardness of which of the following tool material is highest

a) Tungsten Carbide

b) High speed steel

c) High carbon steel

d) Medium Carbon Steel
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2) TTRC PSS
b) BT Wis Wi
c) BT3 Hlad ¥Id
d) Hif$TH Hre ¥ia

Machinability index is defined with reference to machinability of

a) Stainless steel

b) OHNS steel
¢) Low Carbon Steel

d) Free cutting steel
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a) WY EId

b) STTEETCH EId
¢) @l HEd Tid
d) Wl BT Ed

BHN 1s unit of

a) Toughness
b) Tensile strength
¢) Young’s modulus

d) Hardness

&1 FRiAfaferdt & dau & uRuifdd
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a) THg

Which mechanism is used in Shaper machine?

a) Quick cutting mechanism
b) Quick return mechanism
c) Hart mechanism

d) Gyroscope mechanism
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a) @Rd derg (B sfem Bdbfem
b) AR ot (Be e sy
C) BTéﬁfa?ﬁ\_ﬂ'q

d) SIRIHIY B Ao

Sine bar is used for

a) Distance measurement
b) Angle measurement
¢) Deflection measurement

d) Radius measurement
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a) @IITC[

b) IUT A
C) fqe&rqur arg
d) B=aram

Metal plates are made by

a) Forging
b) Drawing
¢) Extrusion

d) Rolling
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a) WIS
b) ST

c) U&gvold
d) XAfef

In milling and lathe machines, the term DRO indicates

a) Digital Record Out

b) Digital Record Output
c) Digital Read Out

d) Digital Read Output
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a) TSioTed Ravls 3mae
b) fefoiea Revls 3m3eye
c) fefored e 3m3e

d) fefored 3 sm3eye

Stokes 1s the unit of

a) Kinetic Energy
b) Pressure
c) Viscosity

d) Gravitational force



Wi 1 3PS 5

a) TS ot
b) GdId
¢) faafamga

d) TATHYU Fc

What is the unit of acceleration of an object?

a) Metre/second
b) Metre/second?
¢) Metre/minute

d) Metre/hour
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a) HieyAdH S

b) HIXAFHS 2
¢) Hiey/BHe

d) Hie/eer

Convert (- 40) degrees Celsius in Fahrenheit.

a) 32 F
b) -32 F
c) 40 F
d) -40F
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a) 32F
b) -32 F
c) 40F
d) -40F

Tempering 1s done for

a) Increasing hardness
b) Increasing toughness
¢) Increasing brittleness

d) Increasing melting point
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a) PRI (BTS1H) SgH & forg
b) Al (€= TgH & forg

¢) HIRdI (fsiea49) §¢MH & forg
d) TTeHi® degH & forg

Brass 1s an alloy of which metals?

a) Copper and aluminium
b) Copper and lead
¢) Copper and zinc

d) Copper and tin
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a) el 3R gy
b) T 3R
¢) diaT 3R i ()
d) dfer 3R feq

A NO-GO gauge 1s used to check the of hole.

a) Lower limit
b) Upper limit
c) Tolerance

d) Deviation
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a) THrett di|n
b) SHURI HHT
¢) el
d) faereH

In a Vernier calliper 50 divisions of Vernier scale occupy 49 divisions on the
main scale. The main scale reading is 30 mm and 20th Vernier scale division

coincides with main scale. What is the reading (in mm)?

a) 30.4
b) 30.04
c) 30.02
d) 30.2
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a) 30.4
b) 30.04
¢) 30.02
d) 30.2

Which of the following tool’s head is made from wood?
a) Cross peen hammer
b) Claw hammer

¢) Ball peen hammer

d) Mallet
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Included angle of a V block (in degrees) is

a) 90
b) 120
c) 45
d) 75
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a) 90
b) 120
c) 45
d) 75

In turning operation when a tool is set below the centre of job, then

effective rake angle

a) Increases
b) Decreases
c) Remains same

d) Becomes negative
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a) 9Gd1 8
b) Tedl g

¢) JHF I8d &

d) THRIHS B S1dT &

Seasoning of timber is done for
a) Increasing moisture content
b) Decreasing moisture content
¢) Reducing knots

d) Determining age of the wood
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a) TH! Bl d¢H & fau

b) it & T & oy

¢) T3l &l HH HH & forg

d) dH el Bl 39 a9 B & ¢

Major portion of heat dissipated during machining is absorbed by

a) chip
b) tool
c) work-piece
d) tool-holder
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a) U

b) &

c) Tb-Ug
d) e gles

Due to which property of the material it regains its original shape after

applied force is released.

a) Malleability
b) Tenacity
c) Elasticity
d) Plasticity
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) SMTHTAILHITAT (Aferafedé
b) TG (RN

¢) TR (ganReRid)

d) FucudI (weRich

Due to built up edge formation, which of the followings will happen ?

a) Improvement in surface finish
b) No change in surface finish

c) Surface finish will deteriorate
d) None of the above
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2) TR A= & guR g

b) B A= ®Is YR 71 8N
¢) Wb fhfAr farrsTi

d) SR F Y B3 T

Crater wear of tool 1s highest in machining of which of the following?

a) Cast iron
b) Brass
c) Teflon

d) Stainless steel
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a) PIE MR
b) ST

¢) cHaM

d) A0 Trd

Which of the following is not the function of coolant?

a) Improve surface finish
b) Cools job and tool
¢) Improve tool life

d) Lubricates the guideways
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a) TRW AR T GUR HAT
b) e 3R T B 38T Bl
¢) T ASH T YR HIAT

d) TMESd DI AT DAl

Kerosene 1s best suited coolant for machining of

a) Aluminium
b) Cast iron
¢) Brass

d) Stainless steel
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a) TegH—gH

b) PIRC AR
c) Sl
d) WA Wid

In CNC machining G 42 indicates

a) Cutter compensation to left
b) Cutter compensation to right
c) Cutter compensation cancel

d) Linear interpolation
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a) T3 3R P HHIAYA
b) T3 3R He HRYYH
¢) HeX HHUURAE g

d) Y% Ay

Which profile 1s most commonly used in Spur gears teeth?

a) Cycloid
b) Helix
c) Involute

d) None of these
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RIEESIRIS
b) sfcrad

¢) 3IYC
d) STH A BIS T8

Circumference of a work piece is to be divided into 60 equal divisions using
simple indexing method having 40 worm wheel teeth. Indexing movement

will be

a) 12 holes on 18 hole circle
b) 16 holes on 18 hole circle
c) 12 holes on 21 hole circle

d) 16 holes on 21 hole circle
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a) 18 BT b W 12 A

b) 18 BId Tbd W 16 81A

¢) 21 Bl Ghd W 12 B

d) 21 DA JPA R 16 B

What is the property of bamboo wood?
a) Light weight
b) Soft
c) Flexible and strong
d) None of the above
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a) gl
b) RA
c) ﬂ?ﬂﬂTGﬁ'{W
d) SRIGd # ¥ BI5 Tal

Convert 4.307 mm into microns

a) 0.004307 microns
b) 430.7 microns

c) 0.0004307 microns
d) 4307 microns
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a) 0.004307 microns
b) 430.7 microns

c) 0.0004307 microns
d) 4307 microns

If a circle is of diameter 7 cm, then its area and perimeter approximately are

a) 4900 mm? and 280 mm
b) 3850 mm?and 220 mm
¢) 38.5000 m? and 2.20 m
d) 49 m?and 2.8 m



gfe U gd &1 oI/ 7 TSR §, dl SUBT 8 3R URHAT ATHT §

a) 4900 mm? and 280 mm
b) 3850 mm? and 220 mm
¢) 38.5000 m? and 2.20 m
d) 49 m?and 2.8 m

A cylindrical tank has height of 7 m and diameter of 2000 mm. Find the

volume of water that can be contained in it.

a) 22 Liters

b) 2200 Liters
c) 22000 Liters
d) 14000 Liters
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a) 22 Liters

b) 2200 Liters
c) 22000 Liters
d) 14000 Liters

One degree =

a) 60 second
b) 10 minutes
¢) 60 minute

d) 100 minutes



T Rt =

a) 60 second
b) 10 minute

c) 60 minute

d) 100 minute

Volume of cuboid of sides 2x, 2x and 3x is

a) 7x°
b) 6x°
c) 7x?
d) 12x°
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a) 7x°
b) 6x3
¢) 7x°

d) 12x°

12.335 Km = meter

a) 1233.5
b) 123.35
c) 12335

d) 0.12335
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12.335 fhdHer = Hiex

a) 1233.5
b) 123.35
c) 12335
d) 0.12335

A triangle is of sides 6 cm, 8 cm and 10 cm. What is its area in m??

a) 0.0048
b) 0.0030
¢) 0.0024
d) 0.0040
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a) 0.0048
b) 0.0030
c) 0.0024
d) 0.0040

The value of Sin 30 is

a) 1.0
b) 0.5
c) 0.66
d) 0.866
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a) 1.0
b) 0.5
c) 0.66
d) 0.866

The value of surface roughness YV V¥ is micron

a) 8—25
b) 1.6 -8
c) 0.025-1.6
d) <0.025
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a) 8—25

b) 1.6-8

c) 0.025-1.6
d) <0.025

What is included angle (in degrees) between adjacent sides of a regular

hexagon?

a) 60
b) 120
c) 145
d) None of these
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a) 60
b) 120
c) 145

d) 379 Y IS Tl

Volume of cone of radius 3m and height 4 m is cm

a) 12m

b) 36000000
c¢) 12000000
d) 36m
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a) 127
b) 36000000
¢) 12000000 7
d) 367

The sides of rectangle are in ratio of 2:3, if the shorter side 1s 100 mm, the

perimeter of rectangle in mm is

a) 500
b) 5
c) 50
d) 5000
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a) 500
b) 5
c) 50
d) 5000

The density of mild steel is 7.8 gm/cm?. For a mild steel block of 10 cm x 5

cm x 20 cm, the mass is kg

a) 780
b) 7.8
c) 7800
d) 78
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a) 780
b) 7.8
c) 7800
d) 78

01 Nanometer = microns

a) 100
b) 1/100
c) 1000
d) 1/1000
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a) 100
b) 1/100
¢) 1000
d) 1/1000

120 degree = radian

a) 2m/3
b) w/2
c) 4n/3
d) 2n/5
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a) 2n/3
b) w/2
c) 4mn/3
d) 2n/5

Sum of two consecutive numbers is 43, their product is

a) 262
b) 363
c) 462
d) 562
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a) 262
b) 363
c) 462
d) 562

If the dimension of the male part is larger than female part, the fit is

a) Transition fit

b) Interference fit

¢) Ringing fit

d) None of the above
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a) I fibe

b) eIy fihe

¢) T fthe

d) SWIgd # q HIs 8!

The included angle for the British standard whit worth thread is

a) 29°
b) 47.5°
c) 55°
d) 60°
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a) 299
b) 47.5°
c) 55°
d) 60°

When plan 1s shown above the elevation, the projection is called

a) First angle
b) Third angle
c) Isometric

d) Perspective
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a) UGE BT (BT TITeT)
b) TR B (YS W)
c) 3MEHMAH

d) gRued (dfadea)

Which one is the most ductile material?

a) Mild steel
b) Cast iron
c) Glass

d) Tool steel
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a) HISCE Wid
b) DI AR
c) AT

d) ¢ Wid

For machining of very small length taper turning which method is most

suitable

a) Tail-stock offset method
b) Taper turning attachment
¢) Compound slide method

d) Form tool
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a) CO-TIdb ATpae fafdy
b) TR i+ 3egHe
c) HUES WSS fafY

d) BIH ¢d

For mass production of components which type of lathe 1s most suitable?

a) Centre Lathe

b) Capstan Lathe
c) Turret Lathe

d) Automatic Lathe
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a) Hex Ay

b) HUTH AY

c) T Y

d) 3icAfe®d dy

Rotary motion is converted to linear motion using

a) Spur gear
b) Bevel gear
¢) Rack and pinion

d) Helical gear
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a) TR IR

b) foda firR

¢) Y& 3R HifaaA
d) efidd iR

MO03 is a code in CNC programming for

a) Spindle rotation clockwise
b) Spindle rotation anti-clockwise

c) Spindle rotation stop
d) None of the above



M03 et UEnfET B U e % fau gl

2) fRISd AeYH FllHdRy

b) e AcH U-Faiwhary
¢) fisd Aexq Ty

d) SR H Y HIs gl

In a two start thread, lead 1s 4 mm. Pitch of the thread i1s

a) 4 mm
b) 2 mm
¢c) 8 mm

d) 6 mm



AWK Y H, oS 4 el g1 A ds 1 U= gl

a) 4 mm
b) 2 mm
c) 8 mm

d) 6 mm

Which one of the following is the code for incremental programing?

a) G18
b) G19
c) G90
d) G91
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a) GI8
b) G19
c) G90
d) G91

Which one of the following is the code for coolant off?

a) M02
b) M03
c) M09
d) M30
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a) M02
b) M03
c) M09
d) M30

Which type of gear is used for transmitting motion between two shafts axes

at 90 degree?

a) Spur gear
b) Helical gear
¢) Rack and pinion

d) Bevel Gear



90 f&It TR I T 3t & o TIfe TETRa P & o [P UPR &
R &1 U fosar Sirar g2

a) TR IR

b) gfcred R
¢) Y& 3R difFA
d) foda iR

Unit of material removal rate is

a) mm/min
b) m/min
¢) mm>/min

d) m/s



R eEcR P R P 2P gl

a) mm/min
b) m/min
¢) mm’/min

d) m/s

Cyaniding and Nitriding are two methods of

a) Hardening
b) Case Hardening
c) Tempering

d) Normalizing



AT IR Trgersfe o fafdat & fau gl

a) BTS{TI
b) B IS
c) CHIfAT
d) TSRt

In centreless grinding work-piece is supported by

a) Chuck

b) Centres

c) Work rest

d) None of the above



Yoo ¥ TS H aeb-Uie GRIYUICS B

a) TP

b) e

C) JhE

d) SRIad BIs gl

As per Indian standard grain size 46 in the grinding wheel comes under

which category?

a) Coarse
b) Medium
c) Fine

d) Very fine



YR AHI® & AHTIR USISTT @Id H 46 I 15 foog Juft & {1t g2

a) HIS (1Y)

b) HHHHITSTH)

¢) BIE(PIE)

d) Sgd Bl¢ @8 BrE)

What is size of A3 Paper ?

a) 210 x 297 mm
b) 148.5x 210 mm
c) 297 x 420 mm
d) 420 x 594 mm



A3 BN BT R E 2

a) 210 x 297 mm
b) 148.5x 210 mm
c) 297 x 420 mm
d) 420 x 594 mm

What are fundamental units?

a) Length, Mass, Volume

b) Length, Mass, Time

c) Length, Mass, Arca

d) Length, Pressure, Volume
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a) ﬁaTg, SHTH, AT
b) TS, GOHMH, Y
¢) WA, THHM, 8Fhd
d) WIS, TE , SR

What 1s the LCM of 12, 18, 6, 36 ?

a) 12
b) 18
c) 36
d) 42



12, 18, 6, 36, BT gAdH FHUGd® (LCM) fabd=T1 gRTI?

a) 12
b) 18
c) 36
d) 42

What is the square root of 5297

a) 13
b) 23
¢) 33
d) 43



529 &1 IIHS T 8?2

a) 13
b) 23
c) 33
d) 43

How many days a mechanic takes to assemble 64 machines if he assembles

8 machines 1n 3 days?

a) 20 days
b) 22 days
c) 24 days
d) 26 days



Y&l U Hhdh 1 § AR BT 3R pA 3 e T & a1l 3 64
TN BT SRidd B fpaq fea @

a) 20 f&=

b) 22 faA

c) 24 feT
d) 26 faA

A motor cycle tyre is sold for Rs 300/- what is the purchase price if 25%
profit 1s added to it.

a) Rs. 200
b) Rs. 220
c) Rs. 240
d) Rs. 260



Ife T Hicx Tsfhd b SRR DI T 300 / - H &1 ST §, 3R I 25%
T BlaT 8 <l Wiie e R 3

a) Rs. 200
b) Rs. 220
c) Rs. 240
d) Rs. 260

Which one i1s non-metal?

a) Mercury
b) Graphite
c) Brass

d) Iron
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a) ORI
b) AhTsC
c) Utdd
d) e





